a7
uff Sensorl_outl- Jft_Sensorl outi+
MmN A Sensort"outo+
uif Sensor?_outl—_37 | PiN36 pin2 uif Sensor2_outi+
PN DU Sensorz ouz e PN37  pin3 [ i Sensors U2+
uif Sensord outl_3q | Pin38 pind U Sensord outi+
uff_ Sensord_outz_gq | PIn39 A uff Sensor3 outz+
uif Sensord_outl_g1 | Pin40 ping U Sensord outi+
uif Sensord_out2—_gp | PN41 pin7 uif Sensord_oui2+
PN DU Sensors outi o Pn42  ping [ 5 U Sensors outi+
uif Sensors outz_gg | PN43 pind 719 U Sensors oui2+
uff_Sensor6_outl-_a5 | P44 P10 7, ) uff Sensor6_outi+
Ul Sensors outz-_gg | PN4S Pinil I U Sensors oui2+
uf Sensori_outl_gz | P46 PIn12 [Ty uif Sensor7 outi+
PV DU Sensor ouz— e P47 pind3 [ U Sensor U2+
Ul Sensord outl-_gg | PN Pintd I ensors outl+
uff_Sensors outz-_5o | PN49 piniS 7 ¢ uff Sensors_outz+
U Sensor9 outl_g1 | PNS0 Pin1é [ U Sensord outi+
uf Sensord outz_sp | PNST - PIn17 g uff Sens -
PR DU Sencort ot aa | PN52  pint8 [ Ui Sensor10_outl+
Ul Sensorl0 ouz-5g | PN Pt 75, uif Sensorl0 out2+
(S5} S pinsa  pin20 22
JTAG TOK- 5| PSS pin2t JTAG TCK+
JTAG TMS- PInSe — pin22 {75 JTAG NS+
TTAG DL | pns7  pin23 22 STAG ToIr
JTAG TDO- q | PN pin2d JTAG TDO®
5 22 pinso  pin2s (2>
MARKER- 61| P60 pin26 VARKERT
ND S et pin27 (2L =5
START: 2 |pinc2  pinzs (25 STARTE
13 RSTE- 64| PIN6S pin29 [7on T3 RSTbr
GND 65 | PINoA PINSO [Ty n_CONvST
e 85 pines  pinat n
GND 67 | PG Pin3Z [Toq U digal
SN u e T ansiog
uif Sensorl outs- uif Sensorl outs+
Ui SensorT ot gzg | PN 235 pinal [ i Sensort-ouier
T Sensor?_outd gz | PN236  pina2 [Ty U Sensor2_outs+
uif Sensor2 oud-p3g | PNEST PInad |7, uff Sensor2_outd+
PN DU Sensord ou3oaa| Pina38  pinad 22 i Sensors_ouB3+
Ul Sensord outd-agn | PN 339 Pinad =g U Sensors outd+
uff_Sensord_out3-pay | PIN 240 pinad 7, uff Sensord_out3+
T Sensord_outdagp | PN 241 pinat 7 U Sensord outd+
uif Sensors oud-ag3 | PNA92  PInad |7oq uif Sensors out3+
PN DU Sensor outd—aa | Pinad3  pina9 A U Sensors outd+
T Sensorb_out3 pgs | PN 244 Pnal0 7,y U Sensore outs+
uff_Sensor6_outd-pag | PN 345 pinall 7, uff Sensor6_outd+
U Sensorl_out3 gz | PN 246 pinal2 77 U Sensor? outs+
uif Sensor?_oud-agg | PN 24T PInal3 7, uif Sensor7_outd+
PN DU Sensord out3—aa] Pin a4  pin a1a [214 i Sensord_ouB3+
T Sensord outdpsg | PN 249 pinals 7 o U Sensors outd+
uff_Sensord_out3- a5y | PN 350 pinall [ uff Sensord_out3+
» T Sensord outdpsp | PN @51 pinal? 7 U Sensoro outd+ 39
ufl_Sensorl0 ouBgsa | PN a2 pinald =,y ulf Sensor10_out3+
PN DU Sensorl0_outtaes | Pinas3 pin a1o 228 U Sensori0 outd+
i 341 pinass  pin a20 [-420 1
255 pinass  pinazi (22
2 2561 pinase pin a2 [-822 2
" 25T pinas7  pin az3 [223 3
4 3581 pinasg pin az4 [~24 4
4 2591 pinaso  pin a5 [-A23 5
501 pinaco  pin a26 22
L 2011 pinact pin a27 221 L
5 262 pinacz  pin azs [228 &
10 aga | PN 263 pina2d [qy 10
L 2041 pinacs pin a0 [-430 L
I 285 pinacs  pinaat (23 L
pinag6  pin as2
pina67  pin a33
pinacé  pin a3
HEADER 12 HEADER 12
mhole  mhole
mhole  mhole
VHDCI Dual 68

c34
™ 100nf
GND . vee Vb33
GND vee
las  GND
EN12BAR  EN78 BAR s
REY P buff Sensorl outl- N out 1. |45 Sensort ou:
100 PM buff Sensorl outl+ : N our 14 |44 Sensort out+
RE8 PM_buff_Sensorl_out2+ N ouT 24 |43 Sensorl ou2e
100 PM buff Sensorl out2- : N our 2. |42 Sensort_outz-
R92 PM_buff_Sensor? out1- N3 our 3. |41 Sensor2 outt-
100 PM buff Sensor2 outl+ Z N3 our 3+ |40Sensor? out+
R94 P buff_Sensor? out2+ N our a4 |2 Sensor? oue
100 PM_buff Sensor2_out2- N4 ouT 4. |38 Sensor2 ou-
VD33 12 ] e . GND
o == 3 z
o0 L e eno
R9G P buff=Sensor3 outl- s out 5. |35 Sensor3 out:
100 PM buff Sensor3 outi+ : st our 5+ |34 Sensor3 out+
R98 PM_buff_Sensor3_out2+ e ouT 6+ |3 Sensord ou2e
100 PM buff Sensor3 out2- z Ne our 6. |22 Sensor3 outz-
RI PM_buff_Sensord_out1- N our 7. |21 sensord out-
100 PM buff Sensord outl+ e our 7+ |0 Sensors out+
RI0: P buff Sensord out2+ e our g+ |2 Sensors oue
100 PM_buff Sensord_out- N out Sensord_out2-
EN34 BAR  ENS6_BAR s
L GND vee
VD33
24 veg vee
cag
FIN1108T
zoom L
cao L
V14 100nf
GND . vee Vb33
GND vee
las  GND
EN12 BAR  EN78 BAR s
RI PM_buff Sensord out1- N our 1. j4s Sensooows
100 PM buff Sensord outl+ N oUT 14|44 Sensooowts
RI PM_buff_Sensor9_out2+ N our 24 |43 Sensogouwze
100 PM buff Sensorg_out2- N our o |42 semowow-
RI PM_buff_Sensor10 out1- N3 our 3 Sensor10_outl-
100 PM buff Sensor10 outi+ - out 3 Sensor10 outi+
R PM_buff Sensorl0 out2+ N out 4 Sensor10 out2+
100 PM_buff Sensorl0_out2- N4 ouT 4. |38 Sensor10 outz-
VD33 vee . GND
ca3 L z z
o0 L e eno
RIL P buffSensort outs- s out 5. |35 Sensort ou:
100 PM buff Sensorl outd+ st our 5+ |24 Sensort oust
R11 PM_buff_Sensorl_outd+ e ouT 6+ |3 Sensorl ouat
100 PM buff Sensorl outa- Ne out 6. |22 Sensort_outé-
R117, PM_buff_Sensor? out3- N our 7. a1 sensor2 ous-
100 PM buff Sensor2 outd+ : e our 7+ | A0Sensor? ouse
RI1 P buff Sensor? outd+ e our g+ |2 Sensor? ouar
100 PM_buff Sensor2_outé- N out Sensor_outé-
l2z__cno
EN34 BAR  ENS6_BAR —
L GND vee
VD33
24 veg vee
cas
FIN1108T
zoom L
cis L
uis 100nf
GND . vee Vb33
GND vee
las  GND
EN12 BAR  EN78 BAR s
R12 PM_buff_Sensor7 out3- N our 1|45 SensoTous
100 PM buff Sensor7 outd+ N oUT 14|44 SensoTowst
R12 PM_buff_Sensor?_outd+ N ouT 24 |43 Sensortowar
100 PM buff Sensor7_outa- N our o |42 seworrows
RI: PM_buff_Sensor8 out3- N3 ouT 3 |4l SenoBous
100 PM buff Sensorg out3+ N oUT 3|40 SensoBowst
RI12 PM_buff SensorB outd+ N our a4 | B SensorBowar
100 PM_buff Sensor8 outé- N4 ouT 4. |38 Sensor8 oud:
VD33 12 ] oo . GND
o == 3 z
100t L BN ene
R12: P buffSEnsord outs- s ouT 5. |35 Sensoro ous:
100 PM buff Sensord outd+ st our 5+ |24 Sensord oust
R12! PM_buff_Sensor9_outd+ e ouT 6+ |3 Sensord outa+
100 PM buff Sensorg_outa- Ne out 6. |22 Sensoro outé-
RI12 PM_buff_Sensor10 out3- N our 7. |31 Sensort0 outs-
100 PM buff Sensor10 out3+ . ouT 74 |0 Sensori0 ous
R127, PM_buff Sensorl0 outd+ - ouT g+ |22 Sensori0 ouas
100 PM_buff Sensorl0_outs- z N out Sensor10_outa-
l2z__ceno
EN34 BAR  ENS6_BAR —
L GND vee
VD33
*—24- vep vee
FIN1108T ca8
1000t

Cc35
v13 100nf
GND GND vee VD33
GND vee
EN12_BAR EN78_BAR |46 _GND
R9O . PM buff Sensors outl- : N2 ouT 1. |45 Sensors oul-
100 PM buff Sensor5 outl+ IN_1+ oUT 1+ a4 Sensor5_outl+
R91 PM_buff_Sensor5_out2+ IN_2+ ouT 2+ 43 Sensor5_out2+
100 PM_buff Sensors_out2- : N2 out 2. |42 Sensors ou2-
RO3 . PM buff Sensor6_outl- : N3 oUT 3. |41 Sensor6 oul-
100 PM buff Sensor6_outl+ IN_3+ oUT 3+ 40 Sensor6_outl+
R95 PM buff Sensor6_out2+ IN_a+ OUT 4+ 39 Sensor6_out2+
100 PM_buff_Sensor6_out2- j; IN_a- ouT_4- 38 Sensor6_out2-
VD33 vee GND GND
c37 z Zz
1Dg!“@'7 PM buff Sensor7 outl- = o Sensor7_outl-
100 PM buff Sensor7 outl+ N5+ OUT 5+ Sensor7_outl+
R99 PM_buff_Sensor7_out2+ IN_6+ ouT_ 6+ 33 Sensor7_out2+
100 PM_buff Sensor7_out2- j: N6 out 6. |32 Sensor?_ouez-
R10: PM buff Sensor8 outl- NT- ouT 7. |31 Sensors oul-
100 PM buff Sensor8 outl+ N7+ oUT_7+ 30 Sensor8_outl+
R10: PM buff Sensor8 out2+ IN_8+ ouT 8+ 29 Sensor8_out2+
100 PM_buff_Sensor8_out2- IN_8- ouT 8- Sensor8_out2-
EN34_BAR EN56_BAR |2z GND
GND. GND vee
%24 vep vee —
FIN1108T fg:"' T
u15
GND GND vee
GND vee
EN12_BAR EN78_BAR |46 GND
R10¢ PM_buff_Sensor3_out3- N our 1. |48 Sensor3 out3-
100 PM _buff Sensor3 out3+ : IN_1+ ouT 1+ 44 Sensor3 out3+
R107, PM_buff_Sensor3_outd+ IN_2+ oUT_2+ 43 Sensor3_outd+
100 PM buff Sensor3 outd- j N2 ouT 2. |42 Sensor3 oud-
R10: PM buff Sensor4 out3- IN_3- ouT 3. |41 Sensord ous-
100 PM_buff_Sensor4_out3+ N3+ ouT_ 3+ 40 Sensord_out3+
R11( PM _buff Sensor4_outd+ IN_4+ ouT_ 4+ 39 Sensord_outd+
100 PM buff Sensor4_outd- j N OUT 4 |38 Sensord oud-
_ﬁDSS 1 vee GND GND
ca2 3 :z
100 PM _buff Sensor5_out3+ IN_5+ ouT 5+ Sensor5_out3+
R11: PM_buff_Sensor5_outd+ IN_6+ OUT_6+ 33 Sensor5_outd+
100 PM buff Sensors outd- N6 ouT 6. |32 Sensors oud-
R11 PM buff Sensoré out3- N_T- ouT 7. |31 Sensoré ous-
100 PM_buff_Sensor6_out3+ N7+ out_7+ 30 Sensor6_out3+
R11 PM _buff Sensor6_outd+ IN_8+ out 8+ 29 Sensorf_outd+
100 PM_buff_Sensor6_outd- z N8 out s Sensoré_outd-
EN34_BAR ENS6_BAR |2z oND
GND GND vee
%24 vBB vee L
FIN1108T

)
toont L

L3_Sensorl_outl-
L3_Sensor1_outl+
L3_Sensor1_out2-
L3_Sensorl_out2+
L3_Sensorl_out3-
L3_Sensorl_out3+
L3_Sensor1_outd-
L3_Sensor1_outd+
L3_Sensor2_outl-
L3_Sensor2_outl+
L3_Sensor2_out2-
L3_Sensor2_out2+
L3_Sensor2_out3-
L3_Sensor2_out3+
L3_Sensor2_outd-
L3_Sensor2_outd+
L3_Sensor3_outl-
L3_Sensor3_outt+
L3_Sensor3_outz-
L3_Sensor3_out2+
L3_Sensor3_out3-
L3_Sensor3_out3+
L3_Sensor3_outd-
L3_Sensor3_outd+
L3_Sensor4_outl-
L3_Sensor4_outl+
L3_Sensord_outz-
L3_Sensor4_out2+
L3_Sensord_out3-
L3_Sensor4_out3+
L3_Sensor4_outd-
L3_Sensor4_outd+
L3_Sensors_outl-
L3_Sensors_outl+
L3_Sensors_out2-
L3_Sensors_out2+
L3_Sensors_out3-
L3_Sensors_out3+
L3_Sensor5_outd-

L3_Sensor5_outd+

< sensoou-
<} sensorlou+
<} sensorlowz
<} sensorlow+
< }—— sensorl ous-
< sensorlous:
<} Sensorlous-
<} sensorlowd+
<} sensozown-
< }—— semorz out+
< sensozowr
<} semsorzouz+
<} Semozouws
<} sensozous+
< }—— sensor ou-
< sensozowss
<} semsor3 outt-
<} semodou+
<} sensodowr
< }—— senso3 outz+
< sensodous
<} semso3aus+
<} Senso3 s
<} sensodowd+
< }—— sensord ou-
< sensortouis
<} Sensord ouz-
<} sensord ouz+
<} sensodous
< }—— sensord outs+
<} sensordous
<} Sensord aud+
<} SensorSoun-
<} sensorsown+
< }—— sensois ou-
<} sensosouns
<} Semsors aus-
<} sensots aus+
<} sensorS oud-
< }—— sensolS outd+

scL <3 sa
n_CONVST n_CONVST
131U analog < f—— Lanaloa

L3_LU_digital LU digital

L3_JTAG_TCK<__ }————JTAG TCK
L3_JTAG_TCK+ }—————JTAG TCK:
L3_JTAG_TMSK }—————JTAG TMS+
LG_JTAG_TMSGA
L3 JTAG_TDL < }—— JTAGTDI
L3 ITAG_TDI+< }————JTAC TOI*
L3 JTAG_TDO<__ }—————JTAG TDO:
L3_JTAG_TDOK  }—————JTAG TDO+

L3_Sensoré_outl-
L3_Sensoré_outl+
L3_Sensor6_out2-
L3_Sensoré_out2+
L3_Sensor6_out3-
L3_Sensor6_out3+
L3_Sensor6_outd-
L3_Sensoré_outd+
L3_Sensor7_outl-
L3_Sensor7_outl+
L3_Sensor7_out2-
L3_Sensor7_out2+
L3_Sensor7_out3-
L3_Sensor7_out3+
L3_Sensor7_outd-
L3_Sensor7_outd+
L3_Sensor8_outl-
L3_Sensorg_outl+
L3_Sensors_outz-
L3_Sensors_out2+
L3_Sensor8_out3-
L3_Sensorg_out3+
L3_Sensorg_outd-
L3_Sensor8_outd+
L3_Sensorg_outl-
L3_Sensorg_outl+
L3_Sensor9_outz-
L3_Sensor9_out2+
L3_Sensorg_out3-
L3_Sensorg_out3+
L3_Sensorg_outd-
L3_Sensorg_outd+

L3_Sensor10_outl-

<} senso6 ou-
<} sensoib outt+
<} Sensoib ouz
<} sensoib owz+
< }—— sensaif ous-
<} sensoouss
<} Sensor6 oud-
<} Sensorb owd+
<} sensortown-
< }—— semorout+
< sensoow
<} sensor7 ouz+
<} SenorZous
<} sensor7ous+
< }—— sensor7 oud-
< sensoouss
<} Sensor8 outt-
<} sensoBoun+
<} sensofowr
< }—— senso8 outz+
< sensuBous
<} senso aus+
<} Sensoi oud-
<} sensof owd+
< }—— sensord oun-
< sensodouis
<} senso9 ou-
<} sensod ouz+
<} sensogous
< }—— sensod outs+
< sensod ous
<} Sensod aud+
<} sensori0 out-

13_Sensor10_outt+ < Sensorl0 outt+

L3_Sensor10_outz-

< }—————Sensoni0 om2-

L3_Sensor10_outzs <} Sensorl0 out2+

L3_Sensor10_out3-

< }—————Senson0 out3-

L3_Sensor10_out3+ G&mat

L3_Sensor10_outd-

< }——————Sensoni0 omd-

L3_Sensor10_outd+ <} Sensorl0 outd+

L3_RSTB+
L3_RSTB-
in_L3_START+

in_L3_START-

<} lomsiee
< LeRsTE
< J——————smar
<} smmr

in_L3_MARKER+ MARKER+

in_L3_MARKER-

MARKER-

PXL V-6 MB interface - Ladder 3

‘Document Number
<Doc>

‘Monday, January 30, 2012




